EE/2015-16/

March 3, 2016

To,

Dear Sir(s),

The wax sealed quotations are invited on percentage rate basis for following work on behalf of Director, NITIE, Mumbai -400~087. The complete quotation should reach on or before the date and time of submission. Without wax sealed Quotations will be summarily rejected.

Name of work	Providing Gate for Power House Entrance
Estimated cost of work put to	Rs.1,16,136.00
quotation	
Earnest Money Deposit	Rs.2323.00 (Pay order or DD to be attached in
	favour of "NITIE,Mumbai - 87)
Period of contract	1 month
Last date of submission of quotation	29.03.2016 up to 11.00 A.M.
Place of submission of quotation	Quotation Box kept in front of the office of Controller
	of Examinations, Admn. Building, NITIE.
Date of opening of quotation	29.03.2016 up to 11.30 A.M.
Water will be supplied at	N.A.
Validity	90 days from date of submission

NITIE reserves the right to reject any or all Quotation without assigning any reason thereof.

This notice is also available on web-site: www.nitie.edu.

**EXECUTIVE ENGINEER (I/c)** 

CC: Dispatch Section
DR (A & A)/CPSC
NITIE Notice Board
IIT Notice Board

EE/2015-16/

3.3.2016

सेवा में,

## महोदय,

निदेशक,नीटी, मुंबई-87 दूरभाष क्र. 28035213 के कार्यालय में निम्नलिखीत शर्ती सहित मद दर के आधार पर सीलबंद कोटेशन आमंत्रित की जाती हैं । बिना मुहरबंद कोटशन रद्द कर दी जाएगी ।

कार्य का नाम	<b>Providing Gate for Power House</b>			
	Entrance			
बयाना जमा राशि	रू. 2323/-(लेखा अनुभाग में नकद या धनादेश या पे ऑर्डर			
	'' <b>नीटी मुंबई -87''</b> के नाम पर भुगतान कर उसकी रसीद			
	संलग्न करें )			
कार्य अवधि तारीख	एक माह			
कोटेशन जमा करने की अंतिम तारीख	29.03.2016 सुबह 11.00 बजे तक			
कोटेशन जमा करने की जगह	प्रशासन ब्लॉक, परीक्षा नियंत्रक कार्यालय के पास निविदा पेटी रखी गई है ।			
निविदा प्रपत्र खुलने की तारीख	29.03.2016 सुबह 11.30 बजे			
वैधता	जमा करने की तारीख से 90 दिन			

संस्थान के पास बिना कोई कारण बताये कोई भी / सभी निविदाएं रद्द करने का अधिकार सुरक्षित है । यह सूचना नीटी वेबसाइट www.nitie.edu पर भी उपलब्ध है ।

कार्यपालक अभियन्ता(I/C)

प्रतिलिपि : डिस्पैच अनुभाग/उपकुलसचिव (ले.व ले.परीक्षा)

वरि.अधी.(सी.पी.एस.सी.)/ नीटी सूचना पट्ट /आईआईटी, (सूचनापट्ट )

SCHEDULE

Name of work: - Providing Gate for Power House Entrance.

Sr. No	Item	Qty.	Unit	Rate	Amount
1.	Excavation for foundation in earth, soil of all types, sand, gravel and soft murum including removing the excavated materials up to a distance of 50 meters beyond the building area and lift upto 1.50 meters, stacking and spreading as directed including dewatering unless provided elsewhere, preparing the bed for the foundation and necessary backfilling, ramming, watering complete excluding shorting and strutting.  (Pg. No.05, Sr. No.1-a)	3.00	Cum	239.30	717.90
2.	Providing and laying in situ plain cement concrete M-15 of trap metal for foundation and bedding including bailing out water manually (dewatering), formwork, compacting and curing.  (Pg. No.13, Sr. No.1-d)	1.50	Cum	6753.40	10130.10
3.	Providing and casting in situ plain cement concrete M-15 of trap metal for coping to plinth or parapet rounded or chamfered as per drawing including centering formwork, compacting finishing the exposed faces with sufficient minimum thickness of 1:3 cement plaster to give a smooth and even surface or roughening the exposed faces if special finish is to be provided and curing.  (Pg. No.13, Sr.No.2-b)	5.00	Cum	7216.45	36082.25
4.	Pulling down stone masonry in cement mortar with plaster / pointing without dust nuisance with plaster / pointing without dust nuisance including sorting out the stone chips and debris separately and stacking upto distance of 50 meters or spreading the debris etc. complete.  (Pg. NO.47, Sr.No.05)	0.50	Cum	303.05	151.52
5.	Providing and fabricating <b>structural steel works</b> in rolled sections like <b>joists</b> , <b>channels</b> , <b>angles</b> , <b>tees</b> etc. as per detailed designs and drawings including fixing in position with connecting plates, braces and welding, riveting, bolting as necessary including painting etc. complete.  Pg. No.141, Sr.No.05)	0.75	M.T.	80723.00	60542.25
6.	Providing and applying two coat of synthetic enamel paint of approved colour to new / old structural steel work and wood work in buildings and workshops including scaffolding if necessary, cleaning and	30.00	Sqm.	67.05	2011.50

	preparing surfaces by solvent, degreasing and derusting by manual scraping / mechanically by sand blasting / shot blasting flame cleaning / by chemical methods complete. (excluding primer coat) (Pg.No.91, Sr.No.2-b)				
7.	Providing and fixing 150 mm long <b>Arrows</b> ( <b>Bhala</b> ) by welding made out of 16 mm x 16 mm square rods, with one coat of red oxide etc. complete as directed.	100	Each	65.00	6500.00
	_	Total Amount		116135.52	
			Say R	S	116136.00

(Inclusive of all taxes.)
I/we hereby ready to execute the work% (in words
) ABOVE /BELOW / AT PAR on the estimate cost put t
tender inclusive of all taxes. Total Tender Amount quoted after considering the percentage i
figure Rs Total Tender Amount quoted after considering the percentage i
words
Rs

CONTRACTOR

**EXECUTIVE ENGINEER(I/c)**